Clok

—

09

e o2 Kl
N M9 1o ok

2 Bl HE
FhgHlofl 2110 HY 7|&2 M3
3G - ABCLE SU0A CNC-ME{7E]

= =
|0l A A 2fet 2[219] &4

=2
()
2
<]

*® & o o

Jn o b

JIS>eco<tap

just smart!

JIS eco tap

GUHRING -YOUR \WORLD-WIDE PARTNER



JIS>eco<tap

just smart!
FE0| & HAR|Z| oA SE35] notE {802

=11 otY A ZP+HS LSt M2R SRE d43 20|13 24, o7
TICN REIo2 EFISH L G L oje Moz 240 =)
H|ZE &4 O] 2|4 26f o] 3+ +=F
Y JIER HASEE 2] BY - HIBHY 4

=9 Al5{ 5}
HHE — I B
26t 2| 20| Ez|et EHS EIH|Z]| 2 of| ZEHS CtY

Y of| 242 ARHCIE EZ0|AM CNCME{ZER] AL 7t
H|ZEIEH CHH| TICN 2 Oilf'-i'.'ﬁ 26472 3+ HE S
MAAL 3 2HIZ BT} A|Z 2 USL|C}

Ol S AN HHE T|o= s

kSt
|_

7=
=
=Xy

L] l'—f

.i
Bt
=l
oA



Al
JIS>eco tap 7777
just smart! .

o

fol

A
7778

+140

Class 1

+180

Class 2

Thread J-range on page
M 4 5
P T . :
/B0 P 22 A € v, m/min
TR/ A2/ HEE, EAHeld/ 22 . <800 18 18
IALZE HIB2ZE LR AEl 257t : 800-1000 15 15
3EH2Z, B7Y, 145  800-1200 e 10
AH[QIA AR - KA 2 A2/ SR <750 10 10
M 2
AEQIZA ALl - BA|Y HTtE| O{22 : 750-950 10 10
K 22 523 2433 sozy 18 18
N Y20|g, 07ts L20|5832, AR0/582 <6%Si 18 18
FZ LR0IsEE i 26%Si 18 18
g CEtE EEsE3 : 2 2
LS : x x
y 2 :45-55 HRC x x
A5tz :55-62 HRC X X
— =
e N
° 1
M10 (x 1.5)9| &2
_ 1SO limits JIS internal thread
OH limits 1SO internal thread
220 +210
200 | ®
2
180 5
160
+140
£ 140
=3 [aV)
: ]
8 120+ 8
S 98 °
= 100 +
80 +80
+70 —
60 a
o
40 +42 +40
20 +20 i
+14 OH1
0



ISO M =2 LEAFAF D{AIEH

OH2-OH5

N R40
C

SW
o)
I1
JIS B 4430 Article no. 7777
di P Tolerance d2 SW dk 1 12 15
mm mm mm mm mm mm mm
M3 0.500 OH2 4.000 3.200 2.50 46.000 6.000 19.000
M4 0.700 OH3 5.000 4.000 3.30 52.000 7.500 20.000
M5 0.800 OH3 5.500 4.500 4.20 60.000 8.500 24.000
M6 1.000 OH3 6.000 4.500 5.00 62.000 11.000 29.000
M8 1.250 OH3 6.200 5.000 6.80 70.000 14.000 37.000
M10 1.500 OH3 7.000 5.500 8.50 75.000 16.000 41.000
M12 1.750 OH4 8.500 6.500 10.20 82.000 18.500 48.000
M14 2.000 OH4 10.500 8.000 12.00 88.000 20.000 48.000
M16 2.000 OH4 12.500 10.000 14.00 95.000 20.000 52.000
M18 2.500 OH5 14.000 11.000 15.50 100.000 25.000 55.000
M20 2.500 OH5 15.000 12.000 17.50 105.000 25.000 58.000
HgH

ISO S H

e 28 AE| QI AAE =& LdZ20l& Sxgda a3t

EN <800 <1000 <1200 <750 <950 <6% Si | >6% Si Ti Ni  [45-55 HRC|55-62 HRC

Ve m/min 18 15 10 10 10 18 18 18 2 X X X

oy EUHRING




ISO B =2 LEAFAF D{AIEH

27 x4z [ESSER

32t 9

OH2-OH5

SW
= |
< I
I
JIS B 4430 Article no. 7778
d1 P Tolerance d2 SW dk 11 12 15
mm mm mm mm mm mm mm
M3 0.500 OH2 4.000 3.200 2.50 46.000 10.000 19.000
M4 0.700 OH3 5.000 4.000 3.30 52.000 12.000 20.000
M5 0.800 OH3 5.500 4.500 4.20 60.000 14.000 24.000
M6 1.000 OH3 6.000 4.500 5.00 62.000 16.000 29.000
M8 1.250 OH3 6.200 5.000 6.80 70.000 17.000 37.000
M10 1.500 OH3 7.000 5.500 8.50 75.000 20.000 41.000
M12 1.750 OH4 8.500 6.500 10.20 82.000 24.000 48.000
M14 2.000 OH4 10.500 8.000 12.00 88.000 26.000 48.000
M16 2.000 OH4 12.500 10.000 14.00 95.000 26.000 52.000
M18 2.500 OH5 14.000 11.000 15.50 100.000 30.000 55.000
M20 2.500 OH5 15.000 12.000 17.50 105.000 32.000 58.000
HgH
ISO S H
e 28 AE| QI AAE =4 LdZ20l& Sxgda a3t
EN <800 <1000 <1200 <750 <950 GG <6% Si | >6% Si Ti Ni 45-55 HRC | 55-62 HRC
Ve m/min 18 15 10 10 10 18 18 18 2 X X X

oy GUHRING




©Y Z AMO|Z (LIAHE 7R 8)

AENCEE | SO HE 2! LEAFAL 1SO HIE2! 7H= LEARA UNC LfApAE
DIN 13 DIN 13 ASME B1.1
22 x 0z Efm cay 2 x I3 EfE ca 22 x mx  Efm caz A x oxg  Efm ca7 8
[0] P % 6H* LAt () P % 6H LAt [0] P = 6H LEAL [0] | 2] 7%
2 i ) Ao . 2dp g P 2dp i
DIN336 Z|& 2o DIN336 Z|&. Z|CH. DIN336 2|, E DIN336 %4, E= ]
mm mm mm mm mm mm mm mm mm mm mm mm mm mm mm

M1 025 075 0.729 0.785 M25x0.35 215 2121 2221 M22 x1.50 20.50 20.376 20.676 Nr. 1- 64 1.55 1.425 1.580
M1.1 0.25 085 0.829 0.885 M3.0x0.35 265 2.621 2721 M22 x2.00 20.00 19.835 20.210 Nr. 2- 56 1.85 1.694 1.872
M1.2 0.25 095 0.929 0985 M35x0.35 315 3.121 3221 M24 x1.00 23.00 22.917 23.153 Nr. 3 - 48 210 1.941 2.146

M 1.4 0.30 110 1.075 1142 M4.0x050 350 3459 3599 M24 x1.50 2250 22.376 22.676 Nr. 4 - 40 235 2.157 2.385
M 1.6 0.35 125 1221 1321 M45x050 4.00 3959 4.099 M24 x2.00 22.00 21.835 22210 Nr. 5- 40 265 2.487 2.698
M 1.8 0.35 145 1421 1521 M5.0x0.50 4.50 4.459 4599 M25 x1.00 24.00 23.917 24153 Nr. 6 - 32 2.85 2.642 2.896

M2 0.40 160 1567 1.679 M55x050 5.00 4.959 5099 M25 x1.50 23.50 23.376 23.676 Nr. 8- 32 3.50 3.302 3.531
M22 0.45 175 1.713 1.838 M6.0x0.75 520 5188 5378 M25 x2.00 23.00 22.835 23.210 Nr.10- 24 3.90 3.683 3.937
M2.5 0.45 205 2.013 2.138 M7.0x0.75 6.20 6.188 6.378 M27 x1.00 26.00 25.917 26.153 Nr.12 - 24 450 4.343 4.597

M3 0.50 250 2459 2599 MB8.0x050 750 7.459 7.599 M27 x1.50 2550 25.376 25.676 /,- 20 510 4.978 5.258
M 3.5 0.60 290 23850 3.010 M8.0x0.75 720 7.188 7.378 M27 x2.00 25.00 24.835 25.210 /- 18 6.60 6.401 6.731
M4 0.70 3.30 3.242 3422 M80x1.00 7.00 6917 7153 M28 x1.00 27.00 26.917 27.153 %,- 16 8.00 7.798 8.153
M 4.5 0.75 3.70 3.688 3.878 M9.0x0.75 820 8.188 8378 M28 x1.50 26.50 26.376 26.676 1o~ 14  9.40 9.144 9.550
M5 080 420 4.134 4334 M9.0x1.00 800 7917 8153 M28 x2.00 26.00 25.835 26.210 '/,- 13 10.80 10.592 11.024
M6 1.00 5,00 4917 5153 M10 x0.75 9.20 9.188 9.378 M30 x1.00 29.00 28.917 29.153 - 12 1220 11.989 12.446
M7 1.00 6.00 5917 6.153 M10 x1.00 9.00 8917 9.153 M30 x1.50 28.50 28.376 28.676 */y- 11 13.50 13.386 13.868
M8 1.25 6.80 6.647 6912 M10 x1.25 880 8647 8912 M30 x2.00 28.00 27.835 28.210 %,- 10 16.50 16.307 16.840
M9 125 780 7.647 7912 M11 x0.75 10.20 10.188 10.378 M 30 x3.00 27.00 26.752 27.252 /y- 9 19.50 19.177 19.761
M10 1.50 850 8376 8676 M11 x1.00 10.00 9.917 10.153 M 32 x1.50 30.50 30.376 30.676 1- 2225 21.971 22.606

M 11 1.50 9.50 9.376 9.676 M12 x1.00 11.00 10.917 11.153 M 32 x2.00 30.00 29.835 30.210 i, =
M12 1.75 10.20 10.106 10.441 M12 x1.25 10.80 10.647 10.912 M 33 x1.50 31.50 31.376 31.676 1, -

25.00 24.638 25.349
28.00 27.813 28.524

M 14 2.00 1200 11.835 12210 M12 x1.50 10.50 10.376 10.676 M 33 x2.00 31.00 30.835 31.210 97, =
M 16 2.00 14.00 13.835 14210 M 14 x1.00 13.00 12.917 13.153 M 33 x3.00 30.00 29.752 30.252 17, -
M 18 250 1550 15.294 15744 M 14 x1.25 12.80 12.647 12912 M35 x1.50 33.50 33.376 33.676 1%, -

30.353 31.115
34.00 33.528 34.290
39.50 38.938 39.802

oo o ol~N N ®
[N
S
N
a

M20 250 17.50 17.294 17.744 M14 x1.50 1250 12.376 12.676 M 36 x 1.50 34.50 34.376 34.676 2 - 4.
M22 250 19.50 19.294 19.744 M 15 x1.00 14.00 13.917 14.153
M24 3.00 21.00 20.752 21.252 M 15 x1.50 13.50 13.376 13.676

45.00 44.679 45.593

M27 3.00 24.00 23.752 24252 M 16 x1.00 15.00 14.917 15.153
M30 350 26.50 26.211 26.771 M 16 x1.25 14.80 14.647 14.912
M33 350 29.50 29.211 29.771 M 16 x1.50 14.50 14.376 14.676
M36 4.00 32.00 31.670 32270 M17 x1.00 16.00 15.917 16.153
M39 4.00 35.00 34.670 35270 M17 x1.50 15.50 15.376 15.676
M42 450 37.50 37.129 37.799 M18 x1.00 17.00 16.917 17.153
M45 450 4050 40.129 40.799 M 18 x1.50 16.50 16.376 16.676
M 48 5.00 43.00 42.587 43.297 M20 x1.00 19.00 18.917 19.153
M52 5.00 47.00 46.587 47.297 M20 x1.50 18.50 18.376 18.676
M56 5.50 50.50 50.046 50.796 M20 x2.00 18.00 17.835 18.210

M22 x1.00 21.00 20.917 21.153

* M 1.101M M 1.474R] EFEA| LHE AFARE S34= 5H

T—— A > A58e2| 22|
H Vergredlenarg = 50X Aeitsabelend = 18 em c - > H Vergredlenarg = 50X Aeitsabelend = 18 em c -
| > @53 7o)z 2ted
Utkol AHLo2| B S4 7Y Us o2 Y by 1:‘1 -
srArel Dl Mate
> ASHQ £ LAt B

10pm Hochig. = 15,004V

H

Woche « 18008 SigrmAnSEL
Varpsleuegs BIOX  Ametsatetssds 1Eem

Sigrat A v 050 Dutenama = 51_z3_800_bad1 3¢
Verptlang s BIOX  Aetiatelsed s 18 em

HA| 3Y 22| BlAE 34 32






JIS> Of| 3.« &

CC CC =
=50

oy EUHRING

D
s

E ~

2 742 oj2|s
Y 7|54

2
S Ay E

Printed in 2016-1C

()Ad 2 2|0}

2 23dE YR AR 282

UL IC =

MN23gL: 37I= 834 oftS !

1 041)356-7676
205 TEL : 02)2689-8542
2 TEL : 052)288-1970

IS 2|12 &L



